

Variation of Parameters

$$y'' + y = \tan x$$

$$y_h = c_1 \cos x + c_2 \sin x$$

$$m^2 + 1 = 0$$

$$m = \pm i$$

$$y_p = c_1(x) \cos x + c_2(x) \sin x$$

$$|A| = 1 \quad \begin{bmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{bmatrix} \begin{bmatrix} c_1'(x) \\ c_2'(x) \end{bmatrix} = \begin{bmatrix} 0 \\ \tan x \end{bmatrix}$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & \sin x \\ \tan x & \cos x \end{vmatrix}}{|A|} = \frac{-\sin^2 x}{\cos x}$$

$$c_1(x) = \sin x - \ln |\sec x + \tan x|$$

$$c_2'(x) = \frac{\begin{vmatrix} \cos x & 0 \\ -\sin x & \tan x \end{vmatrix}}{|A|} = \sin x$$

$$y = y_h + y_p$$

$$c_1(x) = -\int \frac{\sin^2 x}{\cos x} dx = -\int \frac{(1 - \cos^2 x)}{\cos x} dx$$

$$= -\int \frac{1}{\cos x} dx + \int \cos x dx$$

$$\downarrow \quad \downarrow$$

$$\int -\sec x dx \quad \sin x$$

$$\downarrow$$

$$-\ln |\sec x + \tan x|$$

$$c_2(x) = \int \sin x dx$$

$$c_2(x) = -\cos x$$

$$y_p = (\sin x - \ln |\sec x + \tan x|) \cos x - \cos x \cdot \sin x$$

$$y'' - 2y' + y = \frac{e^x}{x}$$

$$y_h = c_1 e^x + c_2 x e^x$$

$$m^2 - 2m + 1 = 0$$

$$y_p = c_1(x) e^x + c_2(x) x e^x$$

$$|A| = \begin{vmatrix} e^x & x e^x \\ e^x & e^x + x e^x \end{vmatrix} = \begin{vmatrix} e^x & x e^x \\ e^x & e^x(1+x) \end{vmatrix} = \begin{vmatrix} 1 & x \\ 1 & 1+x \end{vmatrix} = 1$$

$$|A| = e^{2x}$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & x e^x \\ \frac{e^x}{x} & e^x + x e^x \end{vmatrix}}{|A|} = \frac{-e^{2x}}{e^{2x}} = -1$$

$$c_1(x) = -x$$

$$c_2'(x) = \frac{\begin{vmatrix} e^x & 0 \\ e^x & \frac{e^x}{x} \end{vmatrix}}{|A|} = \frac{1}{x}$$

$$c_2(x) = \ln |x|$$

$$c_2(x) = \ln |x|$$

$$y_p = -x e^x + \ln |x| x e^x$$

$$y = y_h + y_p$$

$$y'' + y = \sec x$$

$$m^2 + 1 = 0$$

$$m = \pm i$$

$$y_h = c_1 \cos x + c_2 \sin x$$

$$y_p = c_1(x) \cos x + c_2(x) \sin x$$

$$|A| = 1 \quad \begin{bmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{bmatrix} \begin{bmatrix} c_1'(x) \\ c_2'(x) \end{bmatrix} = \begin{bmatrix} 0 \\ \sec x \end{bmatrix}$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & \sin x \\ \sec x & \cos x \end{vmatrix}}{|A|} = \frac{-\sin x}{\cos x}$$

$$c_1(x) = -\ln |\cos x|$$

$$c_2'(x) = \frac{\begin{vmatrix} \cos x & 0 \\ -\sin x & \sec x \end{vmatrix}}{|A|} = 1$$

$$c_2(x) = x$$

$$y'' - 2y' + 2y = e^x \sec x$$

$$y_h = e^x (c_1 \cos x + c_2 \sin x)$$

$$m^2 - 2m + 2 = 0$$

$$y_h = c_1 e^x \cos x + c_2 e^x \sin x$$

$$m^2 - 2m + 2 = 0$$

$$y_p = c_1(x) e^x \cos x + c_2(x) e^x \sin x$$

$$|A| = \begin{vmatrix} e^x \cos x & e^x \sin x \\ e^x \cos x - e^x \sin x & e^x \sin x + e^x \cos x \end{vmatrix} = \begin{vmatrix} \cos x & \sin x \\ \cos x - \sin x & \sin x + \cos x \end{vmatrix} = 1$$

$$|A| = e^{2x} \cos x \sin x + e^{2x} \cos^2 x - (e^{2x} \sin x \cos x - e^{2x} \sin^2 x)$$

$$|A| = e^{2x} (\cos^2 x + \sin^2 x) = e^{2x}$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & e^x \sin x \\ e^x \sec x & x \end{vmatrix}}{e^{2x}} = -\tan x$$

$$c_1(x) = \ln |\cos x|$$

$$c_2'(x) = \frac{\begin{vmatrix} e^x \cos x & 0 \\ x & e^x \sec x \end{vmatrix}}{e^{2x}} = 1$$

$$c_2(x) = x$$

$$y'' + 6y' + 9y = \frac{e^{-3x}}{\sqrt{x^2+1}}$$

$$m^2 + 6m + 9 = 0 \quad y_h = c_1 e^{-3x} + c_2 x e^{-3x}$$

$$m = -3$$

$$m = -3$$

$$y_p = c_1(x) e^{-3x} + c_2(x) x e^{-3x}$$

$$\begin{bmatrix} e^{-3x} & x e^{-3x} \\ -3e^{-3x} & e^{-3x} - 3x e^{-3x} \end{bmatrix} \begin{bmatrix} c_1'(x) \\ c_2'(x) \end{bmatrix} = \begin{bmatrix} 0 \\ \frac{e^{-3x}}{\sqrt{x^2+1}} \end{bmatrix}$$

$$|A| = e^{-6x} - 3x - (-3x) = e^{-6x}$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & x e^{-3x} \\ \frac{e^{-3x}}{\sqrt{x^2+1}} & \alpha \end{vmatrix}}{e^{-6x}} = \frac{-x}{\sqrt{x^2+1}}$$

$$x^2+1 = u$$

$$2x dx = du$$

$$c_1(x) = \int \frac{-x}{\sqrt{x^2+1}} dx$$

$$= -\frac{1}{2} \int \frac{du}{\sqrt{u}} = -\sqrt{x^2+1}$$

$$c_2'(x) = \frac{\begin{vmatrix} e^{-3x} & 0 \\ \alpha & \frac{e^{-3x}}{\sqrt{x^2+1}} \end{vmatrix}}{e^{-6x}} = \frac{1}{\sqrt{x^2+1}}$$

$$c_2(x) = \int \frac{1}{\sqrt{x^2+1}} dx = \ln|x + \sqrt{x^2+1}|$$

$$c_3'(x) = \frac{\begin{vmatrix} 1 & \cos x & 0 \\ 0 & -\sin x & 0 \\ 0 & -\cos x & \sec x \end{vmatrix}}{1} = \frac{-\sin x}{\cos x}$$

$$y''' + y' = \sec x$$

$$m^3 + m = 0$$

$$y_h = c_1 + c_2 \cos x + c_3 \sin x$$

$$m(m^2+1) = 0$$

$$y_p = c_1(x) + c_2(x) \cos x + c_3(x) \sin x$$

$$m = 0$$

$$m = \pm i$$

$$\begin{bmatrix} 1 & \cos x & \sin x \\ 0 & -\sin x & \cos x \\ 0 & -\cos x & -\sin x \end{bmatrix} \begin{bmatrix} c_1'(x) \\ c_2'(x) \\ c_3'(x) \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ \sec x \end{bmatrix}$$

$$|A| = \sin^2 x + \cos^2 x = 1$$

$$c_1'(x) = \frac{\begin{vmatrix} 0 & \cos x & \sin x \\ 0 & -\sin x & \cos x \\ \sec x & -\cos x & -\sin x \end{vmatrix}}{1} = \sec x$$

$$c_1(x) = \int \sec x = \ln|\sec x + \tan x|$$

$$c_2'(x) = \frac{\begin{vmatrix} 1 & 0 & \sin x \\ 0 & 0 & \cos x \\ 0 & \sec x & -\sin x \end{vmatrix}}{1} = -1$$

$$c_2(x) = -\int 1 dx$$

$$c_2(x) = -x$$

